
Wiederholung am 18.12.2014 
-­‐	
  Gleicher	
  Pegelstand	
  in	
  kommunizierenden	
  Röhren;	
  	
  
	
  	
  	
  Benutzung	
  zur	
  Druckmessung	
  nach	
  Kalibra=on	
  
	
  
	
  
	
  
-­‐	
  Au?rieb	
  durch	
  unterschiedlichen	
  Druck	
  “oben”	
  	
  
	
  	
  und	
  “unten”	
  	
  
	
  	
  à	
  Au?riebskra?,	
  “reduziertes	
  Gewicht”	
  
	
  
	
  
	
  
-­‐	
  Strömende,	
  inkompressible	
  Flüssigkeiten:	
  	
  
	
  	
  1)	
  Kon=nuitätsgleichung,	
  Konstanz	
  des	
  	
  
	
  	
  	
  	
  	
  	
  	
  Volumentstroms	
  
	
  	
  2)	
  Bernoulli-­‐Gleichung:	
  In	
  einer	
  strömenden,	
  	
  
	
  	
  	
  	
  	
  	
  	
  inkompressiblen	
  Flüssigkeit	
  gilt	
  überall	
  
	
  	
  	
  	
  	
  	
  	
  (Energiebetrachung	
  –	
  Energieerhaltung):	
  	
  

Ai	
  ×	
  vi	
  =	
  const	
  

p	
  +	
  ρgh	
  +	
  ½ρv2	
  =	
  const	
  


